

कार्यालयः राँची नगर निगम, राँची।

(जलापूर्ति शाखा)

कचहरी रोड, रांची, पिन - 834001

e-mail:-support@ranchimunicipal.com

पत्रांक : 146/WSS

दिनांक : . . . / 03 / 2018

अतिअल्पकालीन निविदा आमंत्रण सूचना

- विज्ञापनदाता का पदनाम निविदा प्राप्त करने की तिथि एवं समय
- निविदा खोलने की तिथि एवं समय
- परिमाण विपत्र Download की तिथि
- निविदा प्राप्ति का स्थान

- :- कार्यपालक अभियंता, रॉची नगर निगम, रॉची ।
- :- 22/03/2018 को 02:00 बजे अपराह्न तक। :- 23/03/2018 को 02:30 बजे अपराह्न के बाद।
- :- 12/03/2018 से 19/03/2018 तक।
- जलापूर्ति शाखा, रॉची नगर निगम, रॉची

क्र [ं] 0	. वार्ड नं0	योजना का नाम	प्राक्कलित राशि	परिमाण विपत्र का मूल्य (लौटाने योग्य नहीं)	अग्रघन की राशि	कार्य समाप्ति की अवधि (कार्यादश की तिथि
1	2	3	4	5	6	7
1	22	जलापूर्ति शाखा, राँची नगर निगम अन्तर्गत वार्ड नं0 22 में पुराने गोदाम के बगल में दो कमरों का भण्डार—गृह निर्माण कार्य।	545930.00	5000/-	5000/- 11000/- 12	
2	46	जलापूर्ति शाखा, राँची नगर निगम अन्तर्गत डोरण्डा अंचल अन्तर्गत वार्ड नं० ४६ में गोदाम के बगल डोमटोली में दो कमरों का भण्डार—गृह निर्माण कार्य।	545930.00	5000/-	11000/-	120 दिन

1.निविदा के साथ निम्नलिखित कागजात निम्न क्रम में संलग्न करना अनिवार्य होगा।

- परिमाण विपत्र का मूल्य (डिमाण्ड ड्राफ्ट मूल रुप में) (क) a-
 - अग्रधन की राशि (मूल रुप में) b-
 - रॉची नगर निगम/नगर विकास एवं आवास विभाग में निबंधन की प्रति।
 - वैध चरित्र प्रमाण पत्र (छायाप्रति)
 - G.S.T निबंधन से संबंधित प्रमाण पत्र
 - पैन (छाया प्रतिं)
 - Download किया गया एन0 आई0 टी0 के साथ परिमाण विपत्र।
- (ख) उपरोक्त क्रम में संबंधित दस्तावेज संलग्न करने के उपरान्त प्रत्येक पृष्ठ में (अग्रधन की राशि एवं डिमाण्ड ड्राफ्ट को छोड़कर) पृष्ठ संख्या अंकित कर स्वप्रमाणित (हस्ताक्षर) किया जाना
- बिना कारण बताये निविदा या किसी विशेष कार्य को रदद करने अधिकार अधोहस्ताक्षरी को सुरक्षित
- निविदा के साथ अग्रधन की राशि राष्ट्रीय बचत प्रमाण पत्र (8वॉ निर्गम) तीन या पॉच वर्षीय सावधि पासबुक (पोस्ट ऑफिस का) जो नगर आयुक्त, रॉची नगर निगम, रॉची के पदनाम से प्रतिज्ञित (प्लेज) हो, देय होगा।



4. परिमाण विपन्न का मूल्य (जो किसी भी परिस्थित में वापस नहीं होगा), रांची नगर निगम में डिमांड ड्राफ्ट (प्रत्येक ग्रुप के लिये अलग से) नगर आयुक्त, रॉची नगर निगम, रॉची के नाम से जमा करना होगा एंव परिमाण विपन्न रॉची नगर निगम के वेवसाईट www.ranchimunicipal.com से उपरोक्त निर्धारित तिथि के अन्दर Download किया जाना है तथा डिमांड ड्राफ्ट (प्रत्येक ग्रुप के लिये अलग से) संख्या उसमें अंकित करते हुये निविदा के साथ अलग Cover में निर्धारित तिथि को निगम में जमा करगें।

5. इस निविदा के सबंध में विस्तृत जानकारी निविदा प्रकाशन के उपरांत किसी कार्य दिवस में नगर

निगम के जलापूर्ति शाखा से प्राप्त किया जा सकता है।

6. कार्य की प्राक्कलित राशि घट या बढ़ सकती है। तदनुसार अग्रधन की राशि एवं परिमाण विपत्र के मूल्य में परिवर्तन हो सकता है। अनुमोदित परिमाण विपत्र के अनुसार ही उक्त राशि देय होगी।

सशर्त निविदा मान्य नहीं होगा।

अनुसूचित दर से 10 प्रतिशत से कम दर मान्य नहीं होगा।

9. निविदा के पूर्व स्थल का निरीक्षण संवेदक कर लें तथा स्थिति से संतुष्ट होकर ही निविदा दे। इस सबंध में किसी भी प्रकार का दावा मान्य नहीं होगा। संवेदक को किसी प्रकार का यंत्र—सयंत्र एवं सामग्री निगम द्वारा उपलब्ध नहीं कराया जायेगा।

जिन संवेदको द्वारा ससमय कार्य पूर्ण नही किया गया है तथा अभी भी कार्य लंबित है, उन संवेदको

को कार्य आवंटित नहीं किया जायेगा।

11. आवंटित कार्य का किसी भी परिस्थिति में Sub-letting मान्य नही होगा।

12. किये गये कार्य का रख—रखाव 3 वर्षों तक संवेदक के द्वारा किया जायेगा। इसके लिए सुरक्षित राशि 3 वर्षों की अवधि पूरा होने के पश्चात् ही कार्य संतोषप्रद पाये जाने पर विमुक्त की जायेगी तथा EMD की राशि कार्य पूर्ण होने के उपरान्त 06 माह में विमुक्त की जायेगी।

13. कार्य स्थल पर कार्य की विवरणी का सूचना पट्ट संबंधित सहायक अभियंता से प्रारुप अनुमोदित

कराकर लगाना अनिवार्य होगा।

14. कार्य आवंटित किये जानें के पश्चात संवेदक जलापूर्ति शाखा में शेष अग्रधन की राशि राष्ट्रीय बचत प्रमाण पत्र (8वॉ निर्गम) तीन या पाँच वर्षीय साविध पासबुक जो नगर आयुक्त, राँची नगर निगम, राँची के पदनाम से प्रतिज्ञित (प्लेज) हो, एक सप्ताह के अन्दर जमा कर एकरारनामा करना सुनिश्चत करगें। एकरारनामा ससमय नहीं किये जाने पर आवंटित कार्य रदद् कर दिया जायेगा तथा भविष्य में कोई भी कार्य आवंटित नहीं किया जायेगा न ही कार्य आवंटन के संबंध में कोई दावा मान्य होगा।

15. संवेदक कार्य समाप्ति के पश्चात् कार्यालय को सूचित करेंगे। सूचना नही प्राप्त होने पर ऐसा समझा जायेगा की संवेदक द्वारा निर्धारित अविध में कार्य पूर्ण नही कराया गया है एवं समय वृद्धि किसी भी

परिस्तिथि में नहीं दी जायेगी।

उपरोक्त निर्देशों का अनुपालन नहीं किये जाने पर संबंधित निविदायें अमान्य कर दी जायेगी।

> तृ १ । कार्यपालक अभियंता रांची नगर निगम, रांची।



RANCHI MUNICIPAL CORPORATION, RANCHI

BOQ for construction of Two Rooms Store of size (14'5x13'0") under Ranchi Municipal Corporation (Water Supply Section) in Ward No. 46 Near Old Store Room of Doranda Circle, Domtoli.

Sl. No.	Items of work	Qnty.	Unit	Rate	Amount
1. 5.1.1	Earth work in excavation in foundation trenches in ordinary soil (vide classification of soil item: A) and disposal of excavated earth as obtained to a distance up to 50 M. including all lifts, levelling, ramming the foundation trenches removing roots of trees, shrubs all complete as per approved design, building specification and direction of E/I.	10.76	m3	102.1	1098.60
2. 5.1.7	filling in foundation trenches and plinth in layer not exceeding 150mm thick well water rammed, fully compacted and fine dressed with earth obtained from excavation of foundation trenches with in lead of 50m and lift of 1.5m all complete as per building as per specification & direction of E/I	11.50	m3	37.17	427.46
3. 5.1.10	Providing coarse clean sand in filling in foundation trenches or in plinth including ramming and watering in layers not exceeding 150 mm thick with all leads and lifts including cost of all materials, labour, royalty and taxes all complete as per building specification & direction of E/I.	3.48	m3	228.47	795.08
4. 5.6.1	Providing designation 75A one brick flat soling joints filled with local sand including cost of watering taxes royalty all complete as per building specification and direction of E/I.	45.06	m2	233.78	10534.13
5. 5.3.2	Providing P.C.C M 150 in nominal mix (1:2:4) in foundation with approved quality of stone chips 20 mm to 6 mm size graded and clean coarse sand of F.M. 2.5 to 3 including screening, shuttering, mixing cement concrete in mixer and placing in position, vibrating, skirting, curring, taxes and royalty complete as per building specification and direction	0.85	m3	5913.66	5026.61
6. 5.3.5.1	Providing R.C.C M 200 in nominal mix of (1:1.5:3) in footing & plinth with approved quality of stone chips 20 mm to 6 mm size graded and clean coarse sand of F.M. 2.5 to 3 including screeing, shuttering, mixing cement concrete in mixer and placing in position, vibrating striking, curing (but excluding the cost of reniforcement, taxes and royalty all complete, as per specification and direction of E/I.	3.47	m3	6543.32	22705.32
7. 5.3.11	Providing R.C.C M 200 in nominal mix of (1:1.5:3) in Tie beam of all types with approved quality of stone chips 20 mm to 6mm size graded and clean coarse sand of F.M. 2.5 to 3 including screening, centering shuttering, mixing cement concrete in mixer and placing in position, vibrating striking, curing (but excluding the cost of reniforcement, taxes and royalty all complete, as per secification and direction of E/I.	1.87	m3	8928.5	16696.30
8. 5.3.14	Providing R.C.C M 200 in nominal mix of (1:1.5:3) in columns with approved quality of stone chips 20 mm to 6mm size graded and clean coarse sand of F.M. 2.5 to 3 including screening, centering shuttering, mixing cement concrete in mixer and placing in position, vibrating striking, curing (but excluding the cost of reniforcement, taxes and royalty all complete, as per secification and direction of E/I.		m3	7647.84	22561.13





9.	Providing designation 75A brick work in C.M.(1:6) in				
5.2.11	superstructure with approved quality of clean coarse sand				
	of F.M. 2 to 2.5 including providing 10 mm thick mortar	00.00		1011.05	100000
	joints, cost of screening materials, raking out joints to 15	26.67	m3	4011.07	106975.24
	mm depth, curing, taxes and royalty all complete as per				
	building specification and direction of E/I.				
10.	Providing 25 mm thick damp proof course with cement				
5.3.16.	concrete M-200 with nominal mix of (1:1.5:3) with quality				
1	of stone chips of 20 mm to 6 mm size graded and clean				
	coarse sand of F.M. 2.5 to 3 including screening, shuttering,				
		7.36	m2	189.92	1397.81
	and mixing cement concrete in mixer with 5% cico or any				
	other approved water proffing compound and placing in				
	position, striking, curing, taxes and royalty all complete, as				
11	per building specification and direction of E/I.				
11. 5.3.8.1	Providing R.C.C M 200 in nominal mix of (1:1.5:3) in lintel				
0.3.0.1	with approved quality of stone chips 20 mm to 6 mm size	2.25	m3	7117.44	16014.24
	graded and clean coarse sand of F.M. 2.5 to 3 including screening, centering shuttering, mixing do all complete as				
	per specification and direction of E/I				
12.	Providing R.C.C M 200 in nominal mix of (1:1.5:3) in beam				
5.3.11	of all types with approved quality of stone chips 20 mm to				
	6mm size graded and clean coarse sand of F.M. 2.5 to 3				
	including screening, centering shuttering, mixing cement	1.12	m3	8928.5	9999.92
	concrete in mixer and placing in position, vibrating striking,				
	curing (but excluding the cost of reniforcement, taxes and				
	royalty all complete, as per secification and direction of E/I.				
13.	Providing R.C.C M 200 in nominal mix of (1:1.5:3) in roof				
5.3.9.1	slab with approved quality of stone chips 20 mm to 6 mm				
0.0.0.1	size graded and clean coarse sand of F.M. 2.5 to 3 including	6.95	m3	8235.61	57237.49
	screening, centering shuttering, mixing do all complete as				Marian
	per specification and direction of E/I				
14.	Providing P.C.C M 100 in nominal mix (1:2:4) in foundation				
5.3.3	with approved quality of stone chips 20 mm to 6 mm size				
	graded and clean coarse sand of F.M. 2.5 to 3 including	0.51		F010 00	20772.07
	screening, shuttering, mixing cement concrete in mixer and	3.51	m3	5913.66	20756.95
	placing in position, vibrating, skirting, curring, taxes and			-	
	royalty complete as per building specification and direction				
15.	of E/I Providing 25 mm thick first class patent stone flooring	-			
5.6.7	(1:2:4) with stone chips in two layers, bottom layer 19mm.		3		
	Thick (1:2:4) with 12 mm to 6 mm size graded stone chips				
•	and top layer 6mm, thich (1:2) with 6 mm down stone chips,	1.86	m2	271.41	504.82
	in panels including cost of curing, finishing the surface	1.00	III2	271.41	504.02
	smooth by rubbing with carborandum stone, taxes and				
	royalty with all complete as per building specification and				
1.0	dimentian of F/I				
16.	Providing 1.5 mm cement punnig including curing, carriage	34.84	m2	45.17	1573.72
5.7.11	of water with all leads and lifts as per building specificaiton	91.01	1112	40.11	1010.12
17.	and direction of E/I. Providing and fixing fan hook of 16 mm dia. M.S. bar 1				
5.5.13	metre long bent to required size and shape, placed in				
		2.00	Nos.	97.03	194.06
	position and fixed in R.C.C. slab/beam at the time of casting	2.00	IVOS.	37.03	154.00
	all complete as per building specification and direction of				
	E/I. (where material in not supplied by deppt.)				
18.	Supplying, fitting and fixing 20 guage G.C.I sheet gate fitted				
5.5.29	on M.S Angle frame of size 60X60X60mm including cost of				
	fabrication, providing necessary locking arrangement with				
	haskal and domny duly fixed in PCC (1:2:4) blocks of	5.20	m2	2907.19	15117.39
	required size, applying a priming red lead paint over steel				
	work, taxes all complete as per drawing specification and				
	direction of E/I.				





				Say Rs.	543789.00
				TOTAL:-	543788.61
(iii)	Bricks (Lead 08 KM) (Rate for One Thousand)	12291.00	Nos.	688.68	8465.00
(ii)	Stone Chips(Lead 22 KM)	55.38	m3	462.56	25617.00
(i)	Sand (Lead 14 KM)	45.09	m3	360.06	16235.00
25	Carriage of Materials				
	per building specification and direction of E/I.				
	removal of rust, placing the rods in position all complete as	2.08	M.T.	53433.91	111142.53
(a+b+c)	bending and binding with annealed wire with cost of wire,				
5.5.5	carriage of Rods (straight or in coils) to work site, cutting,				
	mm dia bars as per approved design and drawing excluding				
24.	specification and direction of E/I Providing Tor steel reinforcement of 10 mm,12 mm & 16				
	scaffolding, curing and taxes all complete as per building				
	preparing the plastered surface smooth with sand paper,	303.37	m2	81.14	24615.44
5.8.24	make over a coat of cement primer on new surface including				
23.	Providing two coats of snowcem of approved shade and	-			
	as per building specification and direction of E/I.				
	and lifts of water scaffloding taxes and royalty all complete	40.07	m2	133.78	5360.56
5.7.6	sand fo F.M. 1.5 including screening, curing with all leads				
22.	Providing 6 mm thick C.P.(1:4) in ceiling with clean coarse				
	building specification and direction of E/I.				
	of water scaffloding taxes and royalty all complete as per	274.10	m2	125.34	34355.69
5.7.3	F.M. 1.5 including screening, curing with all leads and lifts				
21.	Providing 12 mm thick C.P.(1:6) with clean coarse sand of				
	royalty all complete as per building specification and				
	curing with all leads and lifts of water, scaffolding taxes and		m2	154.79	7267.39
	approved water proofing compound including screening,	46.95			
5.7.14	with clean coarse sand of F.M 1.5 with 5%cico or any other				
20.	Providing 12 mm thick water proof cement plaster (1:3)				
	building specification and direction of E/I.				
	including cost of scaffolding and taxes all complete as per		m2	95.11	1113.74
	smokes and grease and cleaning the surface thoroughly	11.71			
5.8.45	the surface after cleaning, removing dust, dirt, scales				
+	approved make over new steel surface including preparing				
19. 5.8.41	Providing primer two coats of synthetic enamel paint of approved shade with primer one coat of red lead paint of				

Junior Engineer

Assistant Engineer

WSS, RMC, Ranchi.

B.U. R. supproved from SI, Mr. 01. to 25 amounting
RR. 5.43.789.00 [File lark forty three thousand seven
thundred eighty nine any. 12/03/18

Executive Engineer WSS, RMC, Ranchi.

Request for Proposal (R.F.P)

TO BE FILLED BY THE TENDERER TENDERERS MUST QUOTE THEIR RATE AS PER DIRECTION GIVEN BELOW.

Construction of Two Rooms Store of size (14'5x13'0") under Ranchi Municipal Corporation (Water Supply Section) in Ward No. 46 Near Old Store Room of Doranda Circle, Domtoli.

1. I/We am/are ready to execute the work on (in figure)
Department Rates for each item of work as furnished by the Department in this tender documents.
2. I/We am/are ready to execute the work on Departmental rates for each item of work as furnished by the department in this Tender document.
3. I/We am/are ready to execute the work on (in figure)
Department Rates for each item of work as furnished by the Department in this tender documents.
NOTE:
Strike out which are not applicable.
Rates quoted on percent basis ''above'' or ''below'' must be written in figures and words both where the space is provided, failing which the tender may be rejected.
FULL NAME OF THE TENDERER (IN BLOCK LETTER):
FULL PERMANENT ADDRESS:
FULL LOCAL ADDRESS:

NAME & SIGN. OF THE CONTRACTOR.

M

Oly